Hardware Kit - Fits

-~ RP1470

RP1455

Pekerti Jaya Sdn. Bad
45 Jalan Industri US) 1/5, Taman Perindustrian USJ 1 S
603-80216684

https://pekertijaya.rrproducts.com/

Details

RP1470-2 Bolt

Specifications
Manufacturer

Replacement Parts
R3290-133

R453023
RP1470-1

RP1470-2

RP455-4

L1bangJay, 47600

Includes 20 ea: R453023 Washer, RP455-4 Nut; 19
ea: RP1470-1 Bolt; 2 ea: R3290-133 Screw; 1 ea:

R&R Products

Screw - Machine 1/4-20
x 3/4

Washer - Flat 1/4

Bolt - Carriage 1/4 x
1-1/4

Bolt - Carriage 1/4 x
1-3/4

Nut - 1/4-20 Hex Clear
Zinc



